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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1)
(i)
(ii1)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.

This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

Draw neat diagrams wherever required. Take © = % wherever required, if not
stated.
Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1.

If ‘n’ is a natural number, then which of the following numbers end with

zero ?
(a) (3x2)" (b) (2x5)"
) (6x2)" @ BGx3)"
In a lottery, there are 5 prizes and 20 blanks. The probability of getting a
prize is :

1 1

- b el
(a) 1 (b) 20

1 1

el d -
(c) 55 (d) 5
If 2x + 3y =15 and 3x + 2y = 25, then the value of x —y is:
(a) -10 (b) 8
(c) 10 d -8
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Eﬁ"lﬁ@@%ﬁ ZA=,C, AB=6cm, AP = 12cm MW CP=4cm 3 | a1
CD ! oS 2 :

(a) 2cm (b) 6cm
(c) 8 cm (d) 18cm

UG V2 x2 — 17 % I HT AHA ¢

172 172
(a) — (b) ——5

(¢ O d 1

If Th WP o YR HT FABA 51 cm?2 3T THST AT 85 cm3 7, a1 30 TP
ﬁ‘&%’fﬂ'{‘:ﬂﬁ‘@ﬁ:

(a) 0

cm (b) 3 cm

cm (d) 5cm

(c)

D|OT OOt

ST 14 cm 9101 T 9 o Boa@s, ST hegid I 90° 7, s @7a =g
TS T 8 2

(a) 22cm (b) 44 cm

(c) 88 cm (d) 11 cm
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4. In the given figure, / A= 2 C, AB =6 cm, AP = 12 cm, CP = 4 cm. Then

length of CD is :
(a) 2cm (b) 6cm
(c) 8 cm (d) 18cm

5. The sum of zeroes of the polynomial v2 x% — 17 are given as :

@ 12 W 12
2 2
(c) 0 (d) 1
6. If the area of the base of a cone is 51 ecm? and its volume is 85 cm3, then

the vertical height of the cone is given as :

5
(a) s cm (b) 3 cm
5
(c) 2 cm (d 5cm

7. What is the length of the arc of the sector of a circle with radius 14 cm
and of central angle 90° ?

(a) 22 cm (b) 44 cm
(¢) 88 cm (d) 11 cm

30/2/3 ~ o~~~ Page 5 P.T.O.



10.

11.

12.

30/2/3

U Ad ABCD & i 3fid B(0, 0), C(3, 0) 31X D(0, 4) 8, 35 oY A &
St G

(a) (4, 0) (b)  (0,3)

© (3,4 @ (4,3
Z 4 % = 1 1 féeres 31eqt @ s 5yS 1 &t #
a

(@) ab (b) %ab

©) iab @  2ab

Q%H@ﬁﬁ%ﬁﬁﬂééicm?ﬁﬁ% |3€§§§W7:20a.m.3ﬁ'{7:55a.m.%
= S I Ta g, 98 B

35Y 35Y

() 35° (d) 70°
UG p(x) = X2 + 4X + 3 % YFH @ :

(a 1,3 (b) -1,3
(c) 1,-3 (d -1,-3

& 7% TR H, AB || PQ | I AB=6cm, PQ=2cm 3R OB=3cm ®,
OP@W@W:

(a) 9cm (b) 3Scm
(c) 4 cm (d) 1cm
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8. The coordinates of the vertex A of a rectangle ABCD whose three vertices
are given as B(0, 0), C(3, 0) and D(0, 4) are :

(a) (4,0) (b) (0, 3)
e 3,4 d (4,3
9. The area of the triangle formed by the line §+% = 1 with the coordinate
axes is :
(a) ab (b)  ab
©  ab (@  2ab

10. The hour-hand of a clock is 6 cm long. The angle swept by it between
7:20 a.m. and 7:55 a.m. is :

35)° 35)°

(c)  35° (d 70°
11. The zeroes of the polynomial p(x) = x2 + 4x + 3 are given by :
(a) 1,3 (b) -1,3
(c) 1,-3 (d -1,-3
12. In the given figure, AB | PQ. If AB = 6 cm, PQ = 2 cm and OB = 3 cm,
then the length of OP is :
(a) Y9cm (b) 3cm
(c) 4cm d 1lcm

30/2/3 ~ o~~~ Page 7 P.T.O.



13.

14.

15.

16.

2l T SATepid W, Th IX b TNTA Teh HGHS PQRS &1 | A& PA + CS S
7

(@) QRS b) PR
¢ PS% d PQw®

I¢ TqIG 6x2 + 37x — (k — 2) I Teh IIh, GO YA 1 Goshd al, al k I
T T I 2

(a) -4 (b) -6

(c) 6 d 4

Ife A7 g v oY B A B, @ ferep-B-3Afees Th 9e gt B H
TTRRrehar = B ?

3 4
(a) g (b) g
5 7
(C) g (d) g

Ifg AieRtol 9 3x —y + 8 = 0 3R 6x — ry + 16 = 0 g F&fua @ Tt
g, d@ ¢ 1 WH BN

1 1
(a) - E (b) E
(c) -2 d 2
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13. In the given figure, the quadrilateral PQRS circumscribes a circle. Here
PA + CSis equal to :

(a) QR (b) PR
(¢c) PS d PQ

14. If one zero of the polynomial 6x2 + 37x — (k — 2) is reciprocal of the other,

then what is the value of k ?
(a) -4 (b) -6
(¢) 6 (d) 4

15. If three coins are tossed simultaneously, what is the probability of getting

at most one tail ?

3 4

5 7

16. If the pair of equations 3x —y + 8 = 0 and 6x — ry + 16 = 0 represent
coincident lines, then the value of ‘v’ is :

1 1

_= b -

(a) 5 (b) 2

(c) -2 d 2

30/2/3 ~ o~~~ Page 9 P.T.O.



17. I AABC~APQRH, /A=32°3 /R=65°%, dl /B hI AT 7 :

(a) 32° (b)  65°
(c) 83° d 97°
18. fifaiRgd # @ form fgama wviehtor & ol 1 A ThA 47 ?
(a) 2x2-4x+8=0 b)) —-x2+4x+4=0
© VZx2- Lx41=0 (d) 4x2-4x+4=0
V2

J97 &A1 19 N 20 3fUHeT Tq a@ gRad 97 & 3N I F97 H1 1 HF
& 1 51 %7 137 7T & [5774 T &1 S4B (A) T4 G H 7% (R) GRT 3l 637 T
& | 57 571 & T8 I A4 13T 7T el (@), (b), (c) 37K (d) T & F7H T |
(a) 3R (A) 3R Tk (R) GHI Fa&l & 3R T (R), IR (A) hl T
ST HLT 3 |
(b) 3R (A) 3R T (R) A1 T&l §, T b (R), AHHRH (A) hT T
ST FgT HT 2 |
(c)  AfNTHA (A) Tl 3, T b (R) TId & |
d) A (A) Terd ], W @%b (R) T 7 |

19. 3YFYT (A): 9a & el fag w eoRidEr woef foig @ S areft Brsan w o

Bl 2 |
7% (R) : a1 fog @ 0 W S 78 TRi@isti Sl AFergal SR gl @ |
20. S7YFHYT(A): FGIG p(x) = x2 + 3x + 3% Q& ATEA(Ah Jh @ |
7% (R) : T fgamd sgug o fres-H-3Aleh q arEdfash Y 8 §hd @ |

Qs @
39 GUZ § 37fd G-I (VSA) FHR & 97 8, 1978 T9% & 2 7% 8 |

21. (F) TH gHdd I W G HHR 1 ST, R 1 Sa18 Il /3 T et
2 | 3 1 IFAI [ HIC |

AYAT

(@) 9w % wh fog @, S HWR % drg-fog ¥ 30 m 1 g W &, HER =
TIeR 1 39 v 30° 7 | HAR &1 Sa18 F1a HIT |
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17. If A ABC ~ A PQR with £ A = 32° and £ R = 65°, then the measure of

ZBis:
(a)  32° (b)  65°
(c) 83° d 97°
18. Which of the following quadratic equations has sum of its roots as 4 ?
(a) 2x2-4x+8=0 (b) -x2+4x+4=0
(© J2x2- Ex+1-0 (d) 4x2-4x+4=0

J2

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from
the codes (a), (b), (c) and (d) as given below.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A): A tangent to a circle is perpendicular to the radius
through the point of contact.

Reason (R): The lengths of tangents drawn from an external point to a
circle are equal.

20. Assertion (A) : The polynomial p(x) = x2 + 8x + 3 has two real zeroes.

Reason (R): A quadratic polynomial can have at most two real zeroes.

SECTION B
This section comprises very short answer (VSA) type questions of 2 marks each.

21. (a) The length of the shadow of a tower on the plane ground is +/3
times the height of the tower. Find the angle of elevation of the
sun.

OR

(b)  The angle of elevation of the top of a tower from a point on the
ground which is 30 m away from the foot of the tower, is 30°. Find
the height of the tower.

30/2/3 ~a~~ Page 11 P.T.O.



22. gy 6 fag (- 2, 3), (8, 3) 3R (6, 7) Th HHHIT Y o Y 2 |

23. < TE Ihfa H, 99 H g O R | g A ¥ 39 99 W AB i AC Toei @l
it 18 8 | I ~ BAC =65°%, d ~ BOC shl H1Y J1d <hIfST |

24. (%) AR 4 cot2 45° — sec? 60° + sin2 60° + p = % 2, A p o1 AH J1d it |
AYAT

(@) 9f¢ cosA+cos2A=1%7, dl sin2 A + sint A 1 U 14 hIfT |

25. Tug hifvw fos 6 — V7 T uiey gen B, e mn g o6 V7w sruiaw
qE g |

Qs T

39 GUE 4 &g-3H1¥ (SA) FHR & F97 &, 1579 J3% & 3 3F & |

26. fog Fifse fe -

cosZ 0 N sin® 0
1-tan© sin O —cos O

=1+ sin 0 cosO

27. 14 cm 3591 916 T g9 T HIg SHET heg T 60° T 10T JANT Bt 8 | FIG
Y JOEE I &ARA A hINT | (1= 3-14 3 /3 = 1-73 1 T HIfQ)
30/2/3 ~ o~~~ Page 12




22. Show that the points (-2, 3), (8, 3) and (6, 7) are the vertices of a
right-angled triangle.

23. In the given figure, O is the centre of the circle. AB and AC are tangents
drawn to the circle from point A. If £ BAC = 65°, then find the measure of
2 BOC.

24, (a) If 4 cot?45° — sec2 60° + sin2 60° + p= %, then find the value of p.
OR

(b)  If cos A + cos? A = 1, then find the value of sin? A + sin? A.

25. Prove that 6 — /7 is irrational number, given that /7 is an irrational

number.
SECTION C
This section comprises of short answer (SA) type questions of 3 marks each.
26. Prove that:

2 -3
cos“ 0 sin® O )
=1+ sin0OcosHO

+
1-tan© sin O —cos O

27. A chord of a circle of radius 14 cm subtends an angle of 60° at the centre.

Find the area of the corresponding minor segment of the circle.
(Usen = 3-14 and 3 = 1-73)
30/2/3 ~ o~~~ Page 13 P.T.O.



28.

29.

30.

31.

(%) wH&ATSAl 18180 3R 7575 1 WA TMEeA fafy g LCM 3
I | 39 31 Fewsti 1 HCF o J1d iR |

AAAT

(@) = =fear 6, 12 3R 18 el o faua W awidl & | Afg I o1 =t
T @1 6 a.m. WS &1, a1 IHh L= o dHI Teh 1Y el sl ?

3l 7§ HAId H, I H g O A QPR g0 % fog P W wi@n 7 | fog
HIVT fh £ QAP + £ APR = 90°.

afg f9g Q(O0, 1), fgatt P(s, — 3) 3t R(x, 6) & THEWH gt W&, @ x % AH
T HfT |

(%) afe Wasr gt fHm
2x + 3y =7 dAl 2ax + (a+b)y=28
% IURfHd €9 A 3FF BA B, a1 ‘@’ 3 D’ A F1q HIfT |

AASAT

(@) 3l 217x + 131y = 913 3R 131x + 217y = 827 &, @ x 3R y & HAH
A G o foIg gefieror g1 HifvT |

30/2/3 ~~~~ Page 14



28. (a) Find by prime factorisation the LCM of the numbers 18180 and
7575. Also, find the HCF of the two numbers.

OR

(b)  Three bells ring at intervals of 6, 12 and 18 minutes. If all the

three bells rang at 6 a.m., when will they ring together again ?

29. In the given figure, O is the centre of the circle and QPR is a tangent to it
at P. Prove that £ QAP + £ APR = 90°.

30. IfQ(0, 1) is equidistant from P(5, — 3) and R(x, 6), find the values of x.

31. (a) Ifthe system of linear equations
2x + 3y =7 and 2ax + (a + b)y =28

have infinite number of solutions, then find the values of ‘a’
and b’
OR
(b) If 217x+ 131y =913 and

131x + 217y = 827,

then solve the equations for the values of x and y.

30/2/3 ~ o~~~ Page 15 P.T.O.



Qs v

39 @S H 53T (LA) JHR 3 J97 8, 578 Jc9% & 5 37% & |

32.

33.

34.

35.

30/2/3

(- SERAT 524 1 Sgeteh 558 | Jod SRERATE ‘@ 3 b’ [1d i |

EURCE

0-15

15-30

30 —45

45 - 60

60 — 75

75 -90

RIL|

EIECIE]

6

7

a

15

10

b

51

ST UEd e H T 32 STl 2, g WEH H T 36 3t TR wER H T 40 |
afq =g 3& 8 W Uid H1E = Y, 1 9 Tk wEMI H T 2,000 i SEIA T

L

(%)

T A4S ABC &1 YU AB 3R BC T HIfEdhT AD U I S

PQR 1 %A Y13l PQ R QR 1 Wifedhl PM & HHIUT B |
aise fo6 AABC ~APQRZ |

AL

(@) @HR IgYS ABCD sl 411 CD o wed-fog M 8 T {@1 BM ®i=ht T3
St fehul AC =i foig L R 3R 91618 T8 451 AD i f9g E W e 3 |
fog ShifsT f6 EL = 2BL.

THg-ad ¥ 75 m S AR-ESHH o 6 § ¢@d W g Tl JEi

ST B 30° HAX 60° T | ARG AEFSH & THh @l AX Th

SRS G SIS o Sl WD B, a1 & @il o sftd hl g F1d hIT |
(V3 = 1-73 =1 T hifS)

AAAT

W % T foig 8 T 30 m S9 wad & e W @l T g9r #HR %

T 3 RRET & ST HIvT ShAST: 30° 3 60° 3 | TR HHAR i =18
T HINT | (V3 = 1-73 1 TN Shife)

[ o 2o ~2o 4
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SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32.

33.

34.

35.

The mode of the following frequency distribution is 55. Find the missing

frequencies ‘a’ and ‘b’

Class Interval

0-15(15-30(30-45[45-60|60—-75| 75—90| Total

Frequency 6 7 a 15 10 b 51

Prerna saves ¥ 32 during the first month, ¥ 36 in the second month and

T 40 in the third month. If she continues to save in this manner, in how

many months will she save ¥ 2,000 ?

(a)

(b)

(a)

(b)

30/2/3

Sides AB and BC and median AD of a triangle ABC are
respectively proportional to sides PQ and QR and median PM of
A PQR. Show that A ABC ~ A PQR.

OR

Through the mid-point M of the side CD of a parallelogram ABCD,
the line BM is drawn intersecting AC in L. and AD (produced) in E.
Prove that EL = 2BL.

As observed from the top of a 75 m high lighthouse from the
sea-level, the angles of depression of two ships are 30° and 60°. If
one ship is exactly behind the other on the same side of the
lighthouse, find the distance between the two ships.

(Use /3 =1-73)

OR
From a point on the ground, the angle of elevation of the bottom
and top of a transmission tower fixed at the top of 30 m high
building are 30° and 60°, respectively. Find the height of the
transmission tower. (Use /3 =1-73)

[ o 2o ~2o 4
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QWIS T
59 GUE H 3 KT 3T STERT I3 & 5780 I9F & 4 37 & |

Th0T 3HeFI4 - 1

36. U HIhl GhM H HI%l Gl TG % HY H GUHl Al & | Th HY SHHBR @
frgep =a® 7 cm 9 FEE 14 em 7 I GEU HY YA ITHR 1 3
e =@ 21 em B |

39 o YR T, FHHATIRId T o 3T INIT

(i) SRR Y % YR 1 AARA JTd hIfST |
(i) (%) STMAT HY T &HAT F1 7 ?

HAAAT

(i) (W) PR HY Hl &HAT JTd HINT |

(ili) SRR Y HT T3k JE SATHA T 8 ?
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SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. In a coffee shop, coffee is served in two types of cups. One is cylindrical in
shape with diameter 7 cm and height 14 c¢cm and the other is

hemispherical with diameter 21 cm.

i,

Based on the above, answer the following questions :

(1) Find the area of the base of the cylindrical cup. 1

(ii)) (a) What is the capacity of the hemispherical cup ? 2
OR

(ii) (b)  Find the capacity of the cylindrical cup. 2

(iii) What is the curved surface area of the cylindrical cup ? 1

30/2/3 ~ o~~~ Page 19 P.T.O.



ThIUT YA - 2

37. -G freqor fopelt oft Ueft Rreqor wgfa i defHa @ g S g=
THRT % fTT el 1 3TN At 7 | WA ey T W, edHite
TS AISHISTT ! TGRTd T & foTt HRIET STTI 1 ITANT foham ST weha 2 |
3TEH % 1000 WA 3R Aieafish foame™i W U gaeu fhen T on 3R

3T T8 A e ¥, Ik STMER T Iz Aiflehd fohaT TRIT T |

———

L e 101 371 389
HEU hl G 1-10 [11-20 | 21-50 |51—-100 -
foeme™i @@ | 250 200 290 180 80

ush oo™ 1 Argesan =weE fohan e | 4

(i)  Fgesd @ Ty U foame™ ® 100 & AT el 8H i TR

T HIFT |

i) (%) ITgoed 9@q fohe T fo=rme™ § 50 A1 50 § A HIX TH hl
TTRreRdl HTd ShIT |

HAAAT

i) (@) Jgeeda 99 Ty MU foume™ # 20 ¥ AfUs SR T 8H hH
ITRIShdT ST <Y |

(iii)  ATgesar =¥F AU T faeme™ ¥ 10 A1 10 § FH FHYX TH hl TTRIhAT

1 HIfT |

30/2/3 ~ N~~~
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Case Study - 2

37. Computer-based learning (CBL) refers to any teaching methodology that

makes use of computers for information transmission. At an elementary

school level, computer applications can be used to display multimedia

lesson plans. A survey was done on 1000 elementary and secondary

schools of Assam and they were classified by the number of computers
they had.

Number of 1-10 | 11-20 | 21-50 |51—100 |10t and
Computers more
Number of 250 200 290 180 80
Schools

30/2/3

One school is chosen at random. Then :

(1)

(i1)

(i1)

(iii)

Find the probability that the school chosen at random has more

than 100 computers.

(a)  Find the probability that the school chosen at random has
50 or fewer computers.

OR

(b)  Find the probability that the school chosen at random has

no more than 20 computers.

Find the probability that the school chosen at random has 10 or
less than 10 computers.

[ o 2o ~2o 4
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ThUT YA - 3

38. U faume™ & aifSer feaq W Ysgehl 4 394 @ gHER faenfsi = e
TEhR & YAy Wia-fag ot T =men | v wia s foes € stefa &
ST SETRIT TR AT $EhT AR ABCD I i AR & fo@ar o | few
AT 1 @9 T 20 9 o a7 |

3ITH % YR W, f=fafea geai o 3@ €S
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Case Study -3

In an annual day function of a school, the organizers wanted to give a
cash prize along with a memento to their best students. Each memento is
made as shown in the figure and its base ABCD is shown from the front
side. The rate of silver plating is ¥ 20 per cm?.

Based on the above, answer the following questions :
(1) What is the area of the quadrant ODCO ?
(i1))  Find the area of A AOB.

(iii) (a) What is the total cost of silver plating the shaded part
ABCD ?

OR
(iii) (b)  What is the length of arc CD ?
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